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57> R IEG No K% FhiE Bfi. FP ERSictkx (@5
SRS 1 1 5% BZE SHHEER(BE3) 11 34 1.39.390 CR
2 7 HFA |t TBHER(E3) 12 21 1.41.980 CR
3 15:XKM B Vortex(#1) 23 13 1.42.290 CR
4 13 fHL JREX Vortex(#11) 24 8 1.51.450
AR 5 11 bk BAE i8R (h2) 13 1.52.190
6 20F =& ZFhER(H1) 23 1.52.950
7 14 1bM@ #Z Vortex(#11) 24 1.52.430
8 12 fil MX Vortex(91) 24 1.54.450
FiE 9 6 [EP MEE HMHER(E3) 3 1.50.960
OP 19 E#F| {EXEB B ERFER(F L) 3 1.52.980
11 17 8Kk K8 Vortex(#11) 3 1.54.750
12 16 Pl 3RE Vortex(#1) 3 2.00.450
- 2 MHE FE THHER(E3) 3 WD
- 10 #&L £ HE I FPZER(F2) 3 Disq




